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QUESTION 1

Which two features would cause latency in a WAN connection? (Choose two.) 

A. IPS 

B. syslog 

C. telemetry 

D. UTM antivirus 

Correct Answer: AD 

 

QUESTION 2

Which two statements are true about a service-centric data center model? (Choose two.) 

A. A service-centric data center model pools compute resources. 

B. A service-centric data center model pools storage resources. 

C. A service-centric data center model does not pool storage resources. 

D. A service-centric data center model does not pool compute resources. 

Correct Answer: AB 

 

QUESTION 3

What are two phases of assessment when designing network security? (Choose two.) 

A. to layout a logical design 

B. to layout a physical design 

C. to identify requirements 

D. to perform data analysis 

Correct Answer: AC 

 

QUESTION 4

What are two phases in Juniper\\'s lifecycle approach when designing a network? (Choose two.) 

A. plan 

B. build 
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C. buy 

D. oversee 

Correct Answer: AB 

 

QUESTION 5

Click the Exhibit button. 

Which device plays the role of authenticator in an 802.1X design as shown in the exhibit? 

A. Device A 

B. Device B 

C. Device C 

D. Device D 

Correct Answer: C 
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